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SURFACE AREA AND VOLUME OF A
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1. The diameter of a cone is 14cm and its slant
height is 9cm. Find the area of its curved

surface.

o Watch Video Solution

2. The radius of a cone is 3cm and vertical
height is 4cm. Find the area of the curved

surface.

o Watch Video Solution



https://dl.doubtnut.com/l/_9iO6XwXkxHsP
https://dl.doubtnut.com/l/_cYKfpfIQN3eE
https://dl.doubtnut.com/l/_A6ufM6S6V4Zm

3. The radius and slant height of a cone are in

the ratio of 4:7. If its curved surface area is

22
792cm2, find its radius. (Useﬂ = 7)

° Watch Video Solution

4. The circumference of the base of a 10m high
conical tent is 44 metres. Calculate the length

of canvas used in making the tent if width of

: 22
canvas is 2m. | Usemr = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_A6ufM6S6V4Zm
https://dl.doubtnut.com/l/_haySMFL1NfZy

5. How many metres of cloth 5m wide will be
required to make a conical tent, the radius of

whose base is 7m and whose height is 24m?

Taker = -
aeﬂ'—T

o Watch Video Solution

6. The lateral surface of a cylinder is equal to
the curved surface of a come. If the radius be
the same, find the ratio of the height of the

cylinder and slant height of the cone.

| s ]


https://dl.doubtnut.com/l/_XOSJ6U8UiMkW
https://dl.doubtnut.com/l/_30V7Zk66axDz

| ¥ Watch Video Solution ]

7. The radius and height of a cone are in the
ratio 4:3. The area of the base is 154cm?. Find

the area of the curved surface.

o Watch Video Solution

8. A corn cob (see Fig. 13.17), shaped somewhat
like a cone, has the radius of its broadest end
as 21 cm and length (height) as 20 cm. If each

lem? of the surface of the cob carries an


https://dl.doubtnut.com/l/_30V7Zk66axDz
https://dl.doubtnut.com/l/_F1pgU3tQp4q4
https://dl.doubtnut.com/l/_PnekWiLtnzfB

average of four grains, find how many grains

you would find on the entire cob?

° Watch Video Solution

9. A tent is of the shape of a right circular
cylinder upt a height of 3 metres and then
becomes a right circular cone with a maximum
height of 13.5 metres above the ground.
Calculate the cost of paintingthe inner side of
the tent at the rate of Rs. 2 per square metre,

if the radius of the base is 14 metres.

| e |


https://dl.doubtnut.com/l/_PnekWiLtnzfB
https://dl.doubtnut.com/l/_p15DaKvxfyaz

& watch Video Solution I

10. Monica has a piece of Canvas whose area is
551m?. She uses it to have conical tent mode,
with a base radius of 7m. Assuming that all the
stitching margins and wastage incurred while
cutting, amounts to approximately 1m?. Find
the volume of the tent that can be made with

it.

° Watch Video Solution



https://dl.doubtnut.com/l/_p15DaKvxfyaz
https://dl.doubtnut.com/l/_8s677VtmTBJx

1. If the radius of the base of a cone is halved,
keeping the height same, what is the ratio of
the volume of the reduced cone to that of the

original.

° Watch Video Solution

12. The base radii of two right circular cones of
the same height are in the ratio 3:5. Find the

ratio of their volumes.

° Watch Video Solution



https://dl.doubtnut.com/l/_LdxZ2Xu6yMn4
https://dl.doubtnut.com/l/_BGp9PhFlpqy8

13. A right triangle ABC with its sides 5 cm,
12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so formed.
If the triangle ABC is revolved about side 5cm,
then find the volume of the solid so obtained.
Find also the ratio of the volumes of the two

solids obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_BGp9PhFlpqy8
https://dl.doubtnut.com/l/_LQsti3ZrdWbw

14. A heap of wheat is in the form of a cone of
diameter 14m and vertical height 51cm,
supposing the material of which it is made

weight 10 grams per cubic cm.

o Watch Video Solution

15. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres

of the space on the ground and 20 cubic


https://dl.doubtnut.com/l/_XXKFwRA7BIWX
https://dl.doubtnut.com/l/_9vhDbtV7wS2g

metrs of air to breath. Find the height of the

cone.

° Watch Video Solution

16. A semi-circular sheet of metal of diameter
28cm is bent into an open conical cup. Find

the depth and capacity of cup.

° Watch Video Solution



https://dl.doubtnut.com/l/_9vhDbtV7wS2g
https://dl.doubtnut.com/l/_LIiLDIYjTuG8

17. Two cones have their heights in the ratio
1:3 and the radii of their bases in the ratio 3:1.

Find the ratio of their volumes.

o Watch Video Solution

18. A cylinder is within the cube touching all
the vertical faces. A cone is inside the cylinder.
If heights are some with the same base, find

the ratio of their volumes.

o Watch Video Solution



https://dl.doubtnut.com/l/_BB063sz36KAn
https://dl.doubtnut.com/l/_ofuJ8W8gbuOS

19. A conical tent is 10m high and the radius of
its base is 24m. Find the slant height of the
tent. If the cost of 1m? convas is Rs. 70, find

the cost of the canvas required to make the

tent.

o Watch Video Solution

20. Curved surface area of a cone is 308 cm?

and its slant height is 14cm. Find the radius of

the base and total surface area of the cone.


https://dl.doubtnut.com/l/_ofuJ8W8gbuOS
https://dl.doubtnut.com/l/_B7FasF8NJOzH
https://dl.doubtnut.com/l/_fsvlLiP8Fuol

° Watch Video Solution

21. There are two cones. The curved surface
area of one is twice that of the other. The slant
height of the later is twice that of the former.

Find the ratio of their radii.

o Watch Video Solution

22. Find the ratio of the surface areas of two

cones if their diameters of the bases are equal


https://dl.doubtnut.com/l/_fsvlLiP8Fuol
https://dl.doubtnut.com/l/_m1EimrCbscZg
https://dl.doubtnut.com/l/_Cdmbu08RUO8c

and slant heights are in the ratio of 4:3.

o Watch Video Solution

23. Find the ratio of the surface areas of two
cones if their diameters of the bases are equal

and slant heights are in the ratio of 4:3.

o Watch Video Solution

24. A bus stop is barricaded from the

remaining part of the road, by using 50 hollow


https://dl.doubtnut.com/l/_Cdmbu08RUO8c
https://dl.doubtnut.com/l/_FX1IieOkqlJr
https://dl.doubtnut.com/l/_FrV35Y6ZnZV3

cones made of recycled card-board. Each cone
has a base diameter of 40cm and height 1m. If
the outer side of each of the cones is to be
painted and the cost of painting is Rs. 12 per
m? , what will be the cost of painting all these

cones (Use7r = 3. 14and+/1. 04 = 1. 02))

O Watch Video Solution

25. A heap of wheat is in the form of a cone
whose diameter is 10.5 m and height is 3 m.

Find its volume. The heap is to be covered by


https://dl.doubtnut.com/l/_FrV35Y6ZnZV3
https://dl.doubtnut.com/l/_kUUv44pQ7edQ

canvas to protect it from rain. Find the area of

the canvas required

° Watch Video Solution

26. A tent is in the form of a right circular
cylinder surmounted by a cone. The diameter
of cylinder is 24m. The height of the cylindrical
portion is 11m while the vertex of the cone is
16m above the ground. Find the area of the

canvas required for the tent.

° Watch Video Solution



https://dl.doubtnut.com/l/_kUUv44pQ7edQ
https://dl.doubtnut.com/l/_no5ezFKznkCJ

27.The area of the base of a right circular cone
is 314cm? and its height is 15cm. Find the

volume of the cone.

o Watch Video Solution

28. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved
surface areas are in the ratio 8:5, show that
the radius of each is to the height of each as

3:4.


https://dl.doubtnut.com/l/_no5ezFKznkCJ
https://dl.doubtnut.com/l/_qsyef2iB6x6u
https://dl.doubtnut.com/l/_9Ru5h0Ot5Rjp

° Watch Video Solution

29. A cone of height 24cm has a curved surface

area 550cm>. Find its volume.

Tak _22
aeﬂ'—T

° Watch Video Solution

30. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres

of the space on the ground and 20 cubic


https://dl.doubtnut.com/l/_9Ru5h0Ot5Rjp
https://dl.doubtnut.com/l/_zdew0B4FEL7h
https://dl.doubtnut.com/l/_nvpRnfpAQaKz

metres of air to breathe. Find the height of

the cone.

° Watch Video Solution

31. A right circular cone is 3.6 cm high and
radius of its base is 1.6 cm. It is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

o Watch Video Solution



https://dl.doubtnut.com/l/_nvpRnfpAQaKz
https://dl.doubtnut.com/l/_B98KrsnvoOuh

32. A conical vessel whose internal radius is 5
cm and height 24 cm is full of water. The water
is emptied into a cylindrical vessel with
internal radius 10 cm. Find the height to which

the water rises.

o Watch Video Solution

33. The volume of a cone is 18480cm?. If the
height of the cone is 40cm. Find the radius of

its base.

| & I


https://dl.doubtnut.com/l/_7mx5BEfnTu5B
https://dl.doubtnut.com/l/_du7coPiQuki6

| ¥ Watch Video Solution |

34. The base radii of two right circular cones
of the same height are in the ratio 3:5. Find

the ratio of their volumes.

o Watch Video Solution

35. From a right circular cylinder with height
10cm and radius of base 6cm, a right circular
cone of the same height and base is removed.

Find the volume of the remaining solid.


https://dl.doubtnut.com/l/_du7coPiQuki6
https://dl.doubtnut.com/l/_SxPuBViEBKRF
https://dl.doubtnut.com/l/_X7reis7P21Ja

° Watch Video Solution

36. If h,c, V are respectively the height, the

curved surface and the volume of a cone,

prove that 37Vh® — C?h? + 9V?% = 0.

° Watch Video Solution

37. A right triangle ABC with its sides 5 cm,
12cm and 13cm is revolved about the side

12cm. Find the volume of the solid so formed.


https://dl.doubtnut.com/l/_X7reis7P21Ja
https://dl.doubtnut.com/l/_P0OWwAgTZJnc
https://dl.doubtnut.com/l/_GUYvuHy7di1R

If the triangle ABC is revolved about side 5cm,
then find the volume of the solid so obtained.
Find also the ratio of the volumes of the two

solids obtained.

° Watch Video Solution

38. A cone of a radius 5 cm is filled with water.
If the water poured in a cylinder of radius
10cm, the height of the water rises 2 cm, find

the height of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_GUYvuHy7di1R
https://dl.doubtnut.com/l/_G3yXyqpLEouQ

39. The diameter of a cone is 14cm and its
slant height is 9cm. Find the area of its curved

surface.

o Watch Video Solution

40. Find the total surface area of a cone, if its
slant height is 9m and the radius of its base is

12m.

o Watch Video Solution



https://dl.doubtnut.com/l/_G3yXyqpLEouQ
https://dl.doubtnut.com/l/_xohwI7rs7rgh
https://dl.doubtnut.com/l/_ziRtsZ5mKBeK

41. The radius of a cone is 3cm and vertical
height is 4cm. Find the area of the curved

surface.

o Watch Video Solution

42. The radius and slant height of a cone are

in the ratio of 4:7. If its curved surface area is

22
792 cm2, find the radius. (Use T = 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_FqNPXUeQ1yJZ
https://dl.doubtnut.com/l/_NIPOQI5zWO7J
https://dl.doubtnut.com/l/_i5yik3rc5BVn

43. The circumference of the base of a 10m
high conical tent is 44 metres. Calculate the

length of canvas used in making the tent if

22
width of canvas is 2m. (Usew = 7)

o Watch Video Solution

44.How many metres of cloth 5m wide will be
required to make a conical tent, the radius of

whose base is 7m and whose height is 24m?

22
(Takeﬂ = —)
7

|



https://dl.doubtnut.com/l/_i5yik3rc5BVn
https://dl.doubtnut.com/l/_1Jaq8qGAXV4Y

L___Watch Video Sojution )

45.The lateral surface of a cylinder is equal to
the curved surface of a come. If the radius be
the same, find the ratio of the height of the

cylinder and slant height of the cone.

° Watch Video Solution

46. The radius and height of a cone are in the
ratio 4:3. The area of the base is 154cm?. Find

the area of the curved surface.



https://dl.doubtnut.com/l/_1Jaq8qGAXV4Y
https://dl.doubtnut.com/l/_QGO1aWkyFmM4
https://dl.doubtnut.com/l/_D4VJcEwibmAg

\ ° Watch Video Solution

47. A corn cob (see in figure), shaped
somewhat like a cone, has the radius of its
broadest end as 2.1 cm and length as 20cm. If
each 1 ¢m? of the surface of the cob carries an
average of four grains, find how many grains

you would find on the entire cob?

° Watch Video Solution



https://dl.doubtnut.com/l/_D4VJcEwibmAg
https://dl.doubtnut.com/l/_E5MprBpqWnkr

48. A tent is of the shape of a right circular
cylinder upt a height of 3 metres and then
becomes a right circular cone with a maximum
height of 13.5 metres above the ground.
Calculate the cost of paintingthe inner side of
the tent at the rate of Rs. 2 per square metre,

if the radius of the base is 14 metres.

o Watch Video Solution



https://dl.doubtnut.com/l/_EyVM0t4zW5nN

49, Find the curved surface area of a cone, if
its slant height is 60cm and the radius of its

base is 21cm.

o Watch Video Solution

50. The radius of a cone is 5cm and vertical
height is 12cm. Find the area of the curved

surface.

o Watch Video Solution



https://dl.doubtnut.com/l/_LZf4Xmq5gay4
https://dl.doubtnut.com/l/_7ZqV90PetxgP
https://dl.doubtnut.com/l/_viogNfh2IMN5

51. The radius of a cone 7cm and area of
curved surface is 176 cm?® . Find the slant

height.

o Watch Video Solution

52. The height of a cone is 21cm. Find the area

of the base if the slant height is 28cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_viogNfh2IMN5
https://dl.doubtnut.com/l/_Yqu27CyWV90O

53. Find the total surface area of a right

circular cone with radius 6cm and height 8cm.

° Watch Video Solution

54. Find the curved surface area of a cone with

base radius 5.25cm and slant height 10cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_mdQHz7rcLLjx
https://dl.doubtnut.com/l/_fjC3l68s9JRk

55. Find the total surface area of a cone, if its
slant height is 21 m and diameter of its base is

24 m.

o Watch Video Solution

56. The area of the curved surface of a cone is
607 cm?. If the slant height of the cone be

8cm, find the radius of the base.

o Watch Video Solution



https://dl.doubtnut.com/l/_tdgIFRf2JkT5
https://dl.doubtnut.com/l/_vr1Hyo1phALu
https://dl.doubtnut.com/l/_HRbO2xdl1ljC

57. The radius and slant height of a cone are in

the ratio of 4:7. If its curved surface area is

22
792cm2, find its radius. (USGT(' = 7)

° Watch Video Solution

58. A joker’s cap is in the form of a right
circular cone of base radius 7 cm and height
24 cm. Find the area of the sheet required to

make 10 such caps.

o Watch Video Solution



https://dl.doubtnut.com/l/_HRbO2xdl1ljC
https://dl.doubtnut.com/l/_hnJQOrkTFvdd

59. Find the ratio of the surface areas of two
cones if their diameters of the bases are equal

and slant heights are in the ratio of 4:3.

o Watch Video Solution

60. There are two cones. The curved surface
area of one is twice that of the other. The slant
height of the later is twice that of the former.

Find the ratio of their radii.

o Watch Video Solution



https://dl.doubtnut.com/l/_4RYEFcY1EMTE
https://dl.doubtnut.com/l/_UJCkGcq5VwcR

61. The diameters of two cones are equal. If
their slant heights are in the ratio 5:4, find the

ratio of their curved surfaces.

° Watch Video Solution

62. Curved surface area of a cone is 308 cm?

and its slant height is 14cm. Find the radius of

the base and total surface area of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_UJCkGcq5VwcR
https://dl.doubtnut.com/l/_k0wZD4Kc4UXA
https://dl.doubtnut.com/l/_Rx2pSIBpbw28

63. The slant height and base diameter of a
conical tomb are 25m and 14m respectively.
Find the cost of white-washing its curved

surface at the rate of Rs. 210 per 100 m?

o Watch Video Solution

64. A conical tent is 10m high and the radius of
its base is 24m. Find the slant height of the

tent. If the cost of 1m? canvas is Rs. 70, find


https://dl.doubtnut.com/l/_ARaIBbWeZZUw
https://dl.doubtnut.com/l/_knKrhuZLIUrz

the cost of the canvas required to make the

tent.

° Watch Video Solution

65. A tent is in the form of a right circular
cylinder surmounted by a cone. The diameter
of cylinder is 24m. The height of the cylindrical
portion is 11m while the vertex of the cone is
16m above the ground. Find the area of the

canvas required for the tent.

° Watch Video Solution



https://dl.doubtnut.com/l/_knKrhuZLIUrz
https://dl.doubtnut.com/l/_CkAzQdI0qHec

66. A circus tent is cylindrical to a height of 3
metres and conical above it. If its diameter is
105m and the slant height of the conical
portion is 53m, calculate the length of the

canvas 5m wide to make the required tent.

o Watch Video Solution

67. The circumference of the base of a 10m

high conical tent is 44 metres. Calculate the


https://dl.doubtnut.com/l/_CkAzQdI0qHec
https://dl.doubtnut.com/l/_GhvsODh43KrH
https://dl.doubtnut.com/l/_G8z9sTd6rVuC

length of canvas used in making the tent if

22
width of canvas is 2m. (Usew = 7)

o Watch Video Solution

68. What length of tarpaulin 3m wide will be
required to make a conical tent of height 8m
and base radius 6m? Assume that the extra
length of material will be required for
stitching margins and wastage in cutting is

approximately 20 cm (Use w = 3. 14)

o Watch Video Solution



https://dl.doubtnut.com/l/_G8z9sTd6rVuC
https://dl.doubtnut.com/l/_HaePBwatoEtK

69. A bus stop is barricaded from the
remaining part of the road, by using 50 hollow
cones made of recycled card-board. Each cone
has a base diameter of 40cm and height Tm. If
the outer side of each of the cones is to be
painted and the cost of painting is Rs. 12 per

m? , what will be the cost of painting all these

cones (Usew = 3. 14dand+/1. 04 = 1. 02))

o Watch Video Solution



https://dl.doubtnut.com/l/_HaePBwatoEtK
https://dl.doubtnut.com/l/_OqGKSYLRIcGR

70. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved
surface areas are in the ratio 8:5, show that
the radius of each is to the height of each as

3:4.

o Watch Video Solution

71. Find the volume of a right circular cone

1.02m high, if the radius of its base is 28m.

° Watch Video Solution



https://dl.doubtnut.com/l/_9aK71fMa2XwS
https://dl.doubtnut.com/l/_KNzTAsGjk0Am

72. The area of the base of a right circular
cone is 314cm? and its height is 15cm. Find the

volume of the cone.

° Watch Video Solution

73. The diameter of a right circular cone is 8cm

and its volume is 48 7 cm®. What is its height?

o Watch Video Solution



https://dl.doubtnut.com/l/_KNzTAsGjk0Am
https://dl.doubtnut.com/l/_l3Wr1oW1iBWu
https://dl.doubtnut.com/l/_FnQzdf7BroV7
https://dl.doubtnut.com/l/_XY1ctwzjr5pH

74. The volume of a cone is 18480cm?®. If the
height of the cone is 40cm. Find the radius of

its base.

o Watch Video Solution

75.The base radii of two right circular cones of
the same height are in the ratio 3:5. Find the

ratio of their volumes.

o Watch Video Solution



https://dl.doubtnut.com/l/_XY1ctwzjr5pH
https://dl.doubtnut.com/l/_UTDzDlQjynok

76. A right circular cone is 3.6 cm high and
radius of its base is 1.6 cm. It is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

o Watch Video Solution

77. A conical vessel whose internal radius is 5
cm and height 24cm is full of water. The water

is emptied into a cylindrical vessel with


https://dl.doubtnut.com/l/_JU8XAoYpr4L2
https://dl.doubtnut.com/l/_IqOMCXDk5Pje

internal radius 10cms. Find the height to

which the water rises.

o Watch Video Solution

78. A right triangle ABC' with its dies 5cm,
12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so formed.
If the triangle ABC' is revolved about side
5cm, then find the volume of the solid so
obtained. Find also the ratio of the volumes of

the two solids obtained.

| |


https://dl.doubtnut.com/l/_IqOMCXDk5Pje
https://dl.doubtnut.com/l/_20PbcAYvYguA

& Wwatch Video Solution I

79. A cone and a cylinder are having the same
base. Find the ratio of their heights if their

volumes are equal.

O Watch Video Solution

80. A cone of a radius 5cm is filled with water.
If the water poured in a cylinder of radius
10cm, the height of the water rises 2cm, find

the height of the cone.


https://dl.doubtnut.com/l/_20PbcAYvYguA
https://dl.doubtnut.com/l/_DEFTSTTii1jl
https://dl.doubtnut.com/l/_ipP5rAW0BsUQ

° Watch Video Solution

81. A solid cube of side 7cm is melted to make
a cone of height 5cm, find the radius of the

base of the cone.

° Watch Video Solution

82. From a right circular cylinder with height

10cm and radius of base 6cm, a right circular


https://dl.doubtnut.com/l/_ipP5rAW0BsUQ
https://dl.doubtnut.com/l/_oy8BRqyHDv0P
https://dl.doubtnut.com/l/_OAlplvSiGrnL

cone of the same height and base is removed.

Find the volume of the remaining solid.

° Watch Video Solution

8. The radius and height of a cone are in the
ratio 3:4. If its volume is 301. 44 cm®, what is
its radius? What is its slant height?

(Take m = 3. 14)

o Watch Video Solution



https://dl.doubtnut.com/l/_OAlplvSiGrnL
https://dl.doubtnut.com/l/_Qr31rk4btyCg

84.If h,c, V are respectively the height, the

curved surface and the volume of a cone,

prove that 37Vh® — C?h? + 9V? = 0.

o Watch Video Solution

85. A cone of height 24cm has a curved surface

area 550 cm?. Find its volume.

oo — 22
8671'—7

° Watch Video Solution



https://dl.doubtnut.com/l/_jIE9HYZJEXzF
https://dl.doubtnut.com/l/_5j6vxBnTz42W
https://dl.doubtnut.com/l/_wC7H0deBzHwc

86. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres
of the space on the ground and 20 cubic
metres of air to breath. Find the height of the

cone.

° Watch Video Solution

87. A semi-circular sheet of metal of diameter
28cm is bent into an open conical cup. Find

the depth and capacity of cup.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_wC7H0deBzHwc
https://dl.doubtnut.com/l/_DUgQRxoUDfBF

88. A conical tent is 9m high and the radius of
its base is 12m. (i) What is the cost of the
canvas required to make it, if a square metre
canvas costs Rs. 107 (ii) How many persons can
be accommodated in the tent, if each person
requires 2 square metre on the ground and 15

m”3 of space to breath in?

o Watch Video Solution



https://dl.doubtnut.com/l/_DUgQRxoUDfBF
https://dl.doubtnut.com/l/_Kzr4qii6EQHM

89. Find the volume of the larges right circular
cone that can be cut out of a cube whose edge

iIs 9cm.

o Watch Video Solution

90. A cylinder is within the cube touching all
the vertical faces. A cone is inside the cylinder.
If their heights are same with the same base,

find the ratio of their volumes.

° Watch Video Solution



https://dl.doubtnut.com/l/_frncG2EXH4iK
https://dl.doubtnut.com/l/_M7Rqmm8ou8dM

91. Find the volume of a right circular cone
with: (i) radius 6cm, height 7cm. (ii) radius 3.5
cm, height 12cm (iii) height 21cm and slant

height 28cm.

o Watch Video Solution

92. Find the capacity in litres of a conical
vessel with (i) radius 7 cm, slant height 25 cm

(i) height 12 cm, slant height 13 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_M7Rqmm8ou8dM
https://dl.doubtnut.com/l/_BD7grLIPWIYl
https://dl.doubtnut.com/l/_APpTXGkfGHKC

93. Two cones have their heights in the ratio
1:3 and the radii of their bases in the ratio 3:1.

Find the ratio of their volumes.

o Watch Video Solution

94. The radius and the height of a right
circular cone are in the ratio 5:12. If its volume

is 314 cubic metre, find the slant height and

the radius (Use m = 3. 14)

| = 1


https://dl.doubtnut.com/l/_APpTXGkfGHKC
https://dl.doubtnut.com/l/_bqroe8kxjQD7
https://dl.doubtnut.com/l/_UsaP0ImXcjy3

I &9 Watch Video Solution I

95. The ratio of volumes of two cones is 4:5
and the ratio of the radii of their bases is 2:3.

Find the ratio of their vertical heights.

° Watch Video Solution

96. A cylinder and a cone have equal radii of
their bases and equal heights. Show that their

volumes are in the ratio 3:1.

l o Watch Video Solution


https://dl.doubtnut.com/l/_UsaP0ImXcjy3
https://dl.doubtnut.com/l/_20nuvBbdmbdw
https://dl.doubtnut.com/l/_yBFTKBBuHFBW

97. If the radius of the base of a cone is halved,
keeping the height same, what is the ratio of
the volume of the reduced cone to that of the

original.

o Watch Video Solution

98. A heap of wheat is in the form of a cone of

diameter 9m and height 3.5m. Find its volume.


https://dl.doubtnut.com/l/_yBFTKBBuHFBW
https://dl.doubtnut.com/l/_hnWmSuisJH53
https://dl.doubtnut.com/l/_6va8bYpS2kDi

How much canvas cloth is required to just

cover the heap? (Use m = 3. 14)

o Watch Video Solution

99. Find the weight of a solid cone whose base
is of diameter 14cm and vertical height 51cm,
supposing the material of which it is made

weighs 10 grams per cubic cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_6va8bYpS2kDi
https://dl.doubtnut.com/l/_KCFNkvh84ZXg

100. A right angled triangle of which the sides
containing the right angle are 6.3 cm and
10cm in length, is made to turn round on the
longer side. Find the volume of the solid, thus

generated. Also, find its curved surface area.

o Watch Video Solution

101. Find the volume of the largest right
circular cone that can be fitted in a cube

whose edge is 14cm.

| & |


https://dl.doubtnut.com/l/_Z0ooilYZ9190
https://dl.doubtnut.com/l/_C9QtdZzolPmw

| ¥ Watch Video Solution |

102. The volume of a right circular cone is 9856
em? . If the diameter of the base is 28cm, find:
(i) height of the cone (ii) slant height of the

cone (iii) curved surface area of the cone.

° Watch Video Solution

103. A conical pit of top diameter 3.5m is 12m

deep. What is its capacity in kilolitres?

o Watch Video Solution



https://dl.doubtnut.com/l/_C9QtdZzolPmw
https://dl.doubtnut.com/l/_h7BZjxgEaF4O
https://dl.doubtnut.com/l/_oT1RyBaJWdAy

104. Monica has a piece of Canvas whose area
is 551m?. She uses it to have conical tent
mode, with a base radius of 7m. Assuming that
all the stitching margins and wastage incurred
while cutting, amounts to approximately 1m?.
Find the volume of the tent that can be made

with it.

o Watch Video Solution



https://dl.doubtnut.com/l/_oT1RyBaJWdAy
https://dl.doubtnut.com/l/_aiFmMGDrhElC

105. The height of a cone is 15cm. If its volume

is 5007 ¢m? |, then find the radius of its base.

° Watch Video Solution

106. If the volume of a right circular cone of
height 9 cm is 48wcm® |, find the diameter of

its base.

° Watch Video Solution



https://dl.doubtnut.com/l/_NyuaYt2Szjzi
https://dl.doubtnut.com/l/_U3SWWDjFFsGw

107. If the height and slant height of a cone
are 2lcm and 28cm respectively. Find its

volume.

o Watch Video Solution

108. The height of a conical vessel is 3.5cm. If
its capacity is 3.3 litres of milk. Find the

diameter of its base.

o Watch Video Solution



https://dl.doubtnut.com/l/_eufnooAtp9Gc
https://dl.doubtnut.com/l/_UxNgPCa6Glkn
https://dl.doubtnut.com/l/_iCcxZwjuangc

109. The radius and slant height of a cone are

in the ratio of 4:7. If its curved surface area is

22
792 cm2, find the radius. (Use T = 7)

° Watch Video Solution

110. Find the area of canvas required for a

conical tent of height 24m and base radius 7m.

o Watch Video Solution



https://dl.doubtnut.com/l/_iCcxZwjuangc
https://dl.doubtnut.com/l/_vkcosq5ogCZ0

111. Find the area of metal sheet required in
making a closed hollow cone of base radius

7cm and height 24cm.

o Watch Video Solution

12. Find the length of cloth used in making a
conical pandal of height 100m and base radius

240m, if the cloth is 1007 m wide.

o Watch Video Solution



https://dl.doubtnut.com/l/_rn2GYoDo1vhF
https://dl.doubtnut.com/l/_b9iAra3CIhm3
https://dl.doubtnut.com/l/_1d6ETUD2Pw6r

113. The number of surfaces of a cone has, is

@1 ()2 (93 ()4

° Watch Video Solution

114. The area of the curved surface of a cone of

radius 2r and slant height é is a) mrl b)27rl c)
1

§7r'rl d)m(r + Dr

° Watch Video Solution



https://dl.doubtnut.com/l/_1d6ETUD2Pw6r
https://dl.doubtnut.com/l/_ELUDc5a4RhB9

115. The total surface area of a cone of radius

g and length 2I, is a)27r(l + r)b)
r
r (l + Z) corr(l 4+ r) d)2mrl

o Watch Video Solution

116. A solid cylinder is melted and cast into a
cone of same radius. The heights of the cone
and cylinder are in the ratio (a) 9:1 (b)

1:9 (c) 3:1 (d) 1:3

° Watch Video Solution



https://dl.doubtnut.com/l/_5LEnu9w8PjLa
https://dl.doubtnut.com/l/_0WWbVUOypcKV

117. The slant height of a cone is increased by
10%. If the radius remains the same, the

curved surface area is increased by (a) 10%

(b) 121% (c) 20% (d) 21%

o Watch Video Solution

118. The height of a solid cone is 12cm and the
area of the circular base is 64wcm®A plane
parallel to the base of the cone cuts through

the cone 9cm above the vertex of the cone ,the


https://dl.doubtnut.com/l/_0WWbVUOypcKV
https://dl.doubtnut.com/l/_nvw4c0NNO7RV
https://dl.doubtnut.com/l/_Qbsl8rmbSlL5

area of the base of the new cone so formed is

a)9mrem? b)16mem? ¢)25mem? d)36mwem?

o Watch Video Solution

119. If the radius of the base of a right circular

cone is 37 and its height is equal to the radius

1
of the base, then its volume is (a) §7r7“3 (b)
2

5’71'7“3 (c)37rr3 (d)97rr3

o Watch Video Solution



https://dl.doubtnut.com/l/_Qbsl8rmbSlL5
https://dl.doubtnut.com/l/_BX1Yk8KlRP1k

120. If the volumes of two cones are in the
ratio 1:4 and their diameters are in the ratio
4.5, then the ratio of their heights, is (a)

1:5 (b) 5:4 (c) 5:16 (d) 25:64

o Watch Video Solution

121. The curved surface area of one cone is
twice that of the other while the slant height

of the latter is twice that of the former. The


https://dl.doubtnut.com/l/_7l6tZgL5Mgy6
https://dl.doubtnut.com/l/_YwBR4JNf5hdZ

ratio of their radii is (a) 2:1 (b) 4:1 (c)

8:1 (d) 1:1

° Watch Video Solution

122. If the height and radius of a cone of
volume V are doubled, then the volume of the

cone,is(a)3V(b)4V(c)eV(d) 8V

° Watch Video Solution



https://dl.doubtnut.com/l/_YwBR4JNf5hdZ
https://dl.doubtnut.com/l/_YqFUoNbgRLf9

123. The ratio of the volume of a right circular
cylinder and a right circular cone of the same
base and height, is (a) 1:3 (b) 3:1

(c) 4:3 (d) 3:4

o Watch Video Solution

124. A right circular cylinder and a right
circular cone have the same radius and the

same volume. The ratio of the height of the


https://dl.doubtnut.com/l/_I3QNqUIrle0i
https://dl.doubtnut.com/l/_Ih6g8mHg9EO3

cylinder to that of the cone is (a) 3:5 (b)

2:5 (c) 3:1 (d) 1:3

° Watch Video Solution

125. If the base radius and the height of a right
circular cone are increased by 20%, then the
percentage  increase in  volume s
approximately.(a) 60 (b) 68 (c) 73

(d) 78

° Watch Video Solution



https://dl.doubtnut.com/l/_Ih6g8mHg9EO3
https://dl.doubtnut.com/l/_DPGFK0vVKmy8
https://dl.doubtnut.com/l/_7M9gN4Zfgjns

126. The diameters of two cones are equal. If
their slant heights are in the ratio 5:4, find the

ratio of their curved surfaces.

° Watch Video Solution

127. If h, SandV denote respectively the
height, curved surface area and volume of a
right circular cone, then
3rVh®> — S?h? 4+ 9V ? is equal to (a) 8 (b)0(c)

47r(d) 3272

l ° Watch Video Solution


https://dl.doubtnut.com/l/_7M9gN4Zfgjns
https://dl.doubtnut.com/l/_cL8JUZX2HsvB

128. If a cone is cut into two parts by a
horizontal plane passing through the mid-
point of its axis, the ratio of the volumes f
upper and lower partis (a) 1.2 (b) 2:1 (c)

1.7 (d) 1:8

° Watch Video Solution

129. If the heights of two cones are in the ratio

of 1:4 and the radii of their bases are in the


https://dl.doubtnut.com/l/_cL8JUZX2HsvB
https://dl.doubtnut.com/l/_tIkUchx9B70D
https://dl.doubtnut.com/l/_8BPSjqXUT3eE

ratio 4:1, then the ratio of their volumes is (a)

1:2 (b) 2:3 (c) 3:4 (d) 4:1

° Watch Video Solution



https://dl.doubtnut.com/l/_8BPSjqXUT3eE

